72+1.2

ull
KO

72+12=72+12=6




wHow 1A Adste 3}
E EERCEERES

4
Lo
)

i
)

2]

R T e T
49.2870.64_m7\j_|:|764_|:|

v v v vvyvYyyvyy
0
iy

4928
e 100
e D 4928
e o7
492 4
49.28 = 0.64 = 229 O = 4928 =~ 64 = 77

100 ~ 100




450 Al S 5.

8.12+0.58

8.12 +0.58 =812 + 58 = 14




459 LAl S BHA12.

4.

8.7)13.92

1.6

ull
KO

NelaN|
— | O
o 0
=

8.7

AN AN
AN N
010

(=]




3225+ |=3225+75

o

\VARR 4
0
L

750

322.5 = 3.225x 100 ©]|2& [ |=7.5x 100 = 750




a

ot

SAQ.,

rO
=2
U
P
rlo
4
il

168+0.14=[ |+ 14

>
> =l 16800

U 8 100 HisHR WHRof A= S 100 Bl .
168 + 0.14 = 16800 + 14




459 LAl BHA 2.

78 +2.5

\VARR 4
0
L

31.2




8. 7220+87 o5& g Aste] 24 B4 A2A7A T

> &

> =g 831

72.929+8.7=8.309--—8_31




9. the el B 2A e AL ol AYUAN

104 +1.3
O 24+0.3 @ 72+09 (@)8.4 +1.2
@ 19.2+24 ® 48+06

B

104+13=104+13=38
024+03=24+3=8
@72+09=72+9=28
®84+12=84+12=7
@192+24=192+24=8
®48+06=48+6=28




o
e

10. 9 92805 3.2L50]9] Wol 715 thro] goeln ghick
B 3 7f glojo} sH=x] T2,
A

> =
> ®e 2074

92.8+3.2 = 928 =+ 32 = 29(7})




11. 7S Hmst] [ ool >, =, < S GUA Yo,

30.36 + 9.2 ]66.34 + 21.4

» G
> A >
30.36 - 9.2 = 3.3

66.34 + 21.4 = 3.1
olBm & 30.36 + 9.2 > 66.34 + 21.4 Yt}




2952 =246 ]8.19+6.3

o

vV V
0
il
A

29.52 +24.6 = 1.2
819+63=130/2&
29.52 + 24.6 < 8.19 + 6.3 YU},




13. ZZlswasted [ gt >, <, =5 G HE oA L,

321937 |154+1.75

o

vV V
0
il
A

32.19+3.7=2321.9+ 37 =8.7
15.4 + 1.75 = 1540 + 175 = 8.8
whebA] 32.19 + 3.7 < 15.4 = 1.75 4t}




B4t

et

o WrAler A
A= ’H%—?;jlg/\

18 +4.5

180

._.___..u
RO

A

45

._.D..u
RO

180

..._“_..u
KO

..._“_..u
R0




15. 72017} 50cm gl A o] mE 2.5cm o] 0|2 2wl A o] mi
9% 9 gufo] Bl TEHAL.

=2

\4
n

> M 2029

50 + 2.5 = 20(=4})




16. the UeAle] AATA 0 Gure AL ol Z9lA BEA.

4.1)16.7
16 4
3

O 41x4+4+3=16.7 @ 41x3+4=16.7
@4.1x4+0.3: 16.7 @ 41x3+0.03=16.7

® 41x04+0.3=16.7

U= 0.3 guth
wetA 16.7 4.1 =4---0.3 0]B2
ke AXAS 41x 44 0.3 =16.7FY T}




17.

12.95L 9] &5 0.7L4 ol Yiro]l HEttd, 2 Wl &

Gl @ LA e FokAl.

> &

o,

L
[

184

0
n

vV V V¥
0
L

. 0.35L

B

tlo
>
s
k1

o] U2 Lobdy
18

0.7)12.95

7

59
56
0.35

— &= 18, YA 1 0.35

o] 52 Fojof St LEAe] & 2

Z7VA] Eskal, 1




18. o5 ¥ %&°l 3.5 Bk & 22 o= AYgU7?

O 13.86+4.2 @25.92 +7.2 ® 25.16+74

@ 9.36 + 3.6 ® 3.375+1.25

B

@ 13.86 + 4.2 = 138.6 + 42 = 3.3
@ 25.92+7.2=2592+72=3.6
® 2516 +74=251.6+74=34
@ 9.36+3.6=93.6+36=2.6

® 3.375+1.25 = 337.5 + 125 = 2.7




19.

eAle] B2 24 BAAEZ TRE 1) 1 UHAS FakA L.

21.419-+-0.75

.l

vV V
04
i

0.0065

21.419 +0.75 = 28.55 - - - 0.0065




20. ¥ #E 3.1% WEAEY Kol 296011, U A7 0.125°1 05U

o} o® 4 kel T2,

oA & §) = (Hre F)x(F)+(HH =)
) = 3.1x2.96+0.125
6+ 0.125 = 9.301

P

=9.17




gol 124, A7 3669 5 471 A& U oW 2 55 2L 4=
SHA 2.

WRolE 9] §E weAstel 25 B4 At 7

21.

[t
[= ]

>
> e 1.84

2t £=(F-AH)+2 = (12.4 - 3.66) + 2 = 4.37

= 4= 437+ 3.66 = 8.03
webA] 8.03 = 4.37 = 1.837--- = 1.84




22. 2064 2 oW S o] £ 4% 54 A4 FeigEY Fol
478 O], 2|7} 0.004 o]} oW S Aubelx] FaiA]
Q.

@ 5.8 (@)6.2 ® 624 @65 © 6.64

oAd 5[ |2} i@
29.64 +[ | =4.78---0.004
[ ]=(29.64 - 0.004) + 4.78 = 29.636 + 4.78 = 6.2




23. 9 gl 1 B} 22 AL oL AU

D 3.458 + A = 2.66 @ 6744+ A =562
@38.34 A =426 @ 25568 + A = 7.52

® 575+A =125

U= 711 Hop 210 52 R0l 2| = R A- YT
weba @) 38.34 + A = 42.6 9| 4] 42.6 > 38.34 0|22 A 2] LS
1 B} 25yt




24, o3 =9 Hol+= 40.8cm? ¢

TSHA 2.

| 2
> HE. 6.2cm

85X 3.4+ 2=14.45(cm?)
40.8 - 14.45 = 26.35(cm?)
26.35x 2 = 8.5 = 6.2(cm)




of A% 1 Holl o @ kA T A e st 2% 54

A2)7h2) ERAL S,
> E: km

> HE . °F0.25km

2 A|17F45 B 30 & - 165.5 &
42.195+165.5 = 0.254--- — 2F 0.25(km)




